S GHEelT
Z: olotzal o
ool AN S

6,366,819

i k&t or Dt 8,494,026 2,127,207
=2 528,800
2 5,515,000
] 898,000
[~ 1,552,226
COMRtE| U FHUSBANM (LSS /S 6,681,000 5,246,500 1,434,500
2 5,415,000
7l 898,000
= 368,000
FSAX St ey - 2 5,735,000 4,024,500 1,710,500
z 5,415,000
[ 320,000
HorAH|(21) 3,395,000 2,842,000 553,000
z 3,395,000
403 XHXISHHSRH=01H 3,395,000 2,842,000 553,000
2 3,395,000
01 HXISRREEE 3,395,000 2,842,000 553,000
OSOHEHIAF (200 &) 3,395,000
Z 3,395,000
CIoEIAl DLIEE 89 (=21) 600,000 602,500 A2,500
z 420,000
= 180,000
207 A RN 600,000 600,000 0
= 420,000
[~ 180,000
01 JdR=AY| 600,000 600,000 0
OMABATS SEITAIES 600,000
Z 420,000
[= 180,000
SNMNEBSIEAL U s 1,700,000 400,000 1,300,000
2 1,600,000
[~ 100, 000
403 THXISHHSTH=201™ 1,700,000 400,000 1,300,000
= 1,600,000
[ 100,000
0f AXESHESE 1,700,000 400,000 1,300,000
O#+4&E2 SSHEXM2IAIE A 1,600,000
e 1,600,000
OFdE B TEX AL 100,000
HESHOF 22| O 3 40,000 0 40,000
202 OiH| 8,000 0 8.000
01 22U oYl 8,000 0 8,000
OHIZ I ESCIU =X 8,000
403 MHXISHHSK=01™ 32,000 0 32,000
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O XIS E ST 32,000 | 32,000
OHI I BB 2R (6MH2) 32,000
CIOLMENN BR % HUABHBS 946,000 1,222,000 £.276,000
9l 898,000
< 48,000
HLEIIERSH(2D) 224, 400 250,000 £25,600
3l 198,000
< 26,400
403 REXISHHSKH=0I & 224,400 250,000 £25,600
9l 198,000
= 26,400
0 HASH A= S E 204,400 250,000 £.25.600
OHSTIISTEA (6 4) 204,400
ol 198,000
< 26,400
IR ENEIIE 40 (21) 700,000 702,000 £2,000
3l 700,000
403 XX RIS XH2 01 & 700,000 700,000 0
I 700,000
0N A= S 700,000 700,000 0
OADHEAREIIS L (6HA) 700,000
I 700,000
HE 2 HRS 22 HRKE 21,600 0 21,600
403 XX EHRI S KH= 01 & 21,600 0 21,600
0 HH A= S S 21,600 0 21,600
OHSY HRS +HM=X(3H2) 21,600
HUBD U SRISEL (SHASLA/HS LA - O F) 1,506,440 1,020,240 486,200
2 528,800
z 100,000
< 877,640
HAMEL N o B 76,880 14,480 62,400
HAAZALY B3 76,880 14,480 62,400
201 Y Br2 | 40,400 8,000 32,400
01 ArR 22l 32,400 0 32,400
OUAET HYAE4 ¥ BREEXH 32,400
03 #AL2 2 H| 8,000 8,000 0
OURE HYMS4 MNBols 2 8,000
202 01t 6,480 6,480 0
NETET] 6.480 6,480 0
OHLAS ALY BAE R 6,480
308 X-XI €M S 0| & 30,000 0 30,000
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30,000

01 MXEHMBHEES 0

odigass & 2& 2N 30,000

ozt - el o=t = 685,280 176,480 508.800
= 528,800
= 100,000
& 56,480

oz 243 =8 56,480 56,480 0

202 04 H| 6,480 6,480 0

01 IO 6,480 6,480 0
Odliy HF & o2 et 25 6,480

308 XXM SO0 ™ 50,000 50,000 0

01 AXEHMBLEERS 50,000 50,000 0
ORXNe6s ZSHIO=EHM X& 50,000

St SAYN AEXERZ X24(31D) 500,000 0 500,000
= 500,000

403 XM SAH=0lH 500,000 0 500,000
= 500,000

01 AXIEMA=2ER 500,000 0 500,000
Ostd =&dlM AXXEHS2 =4 500,000
= 500,000

HEMENSZE(Z1) 100,000 0 100,000
= 100,000

403 AXI SIS AH=01 & 100,000 0 100,000
& 100,000

01 XM AEE X 100,000 0 100,000
OUENEExY 100,000
=4 100,000

OEHENES ARE HEXJ(Z1) 28,800 0 28,800
= 28,800

403 XM S A= 0l ™ 28,800 0 28,800
= 28,800

01 RHXISHHMAE2 22 28,800 0 28.800
OOCIEMELIE ARE UHEXE 28,800
= 28,800

gsoizd geHEF AKX =4 744,280 829,280 285,000

fAE FNEZ 248 NE 729,000 822,280 293,280

202 0id| 9.000 8,280 720

01 20l 9,000 8,280 720
ogter2d YR & FXNEH 9,000

308 XX EHHI S0l A 720,000 814,000 £94,000

01 AXHHNBEEES 720,000 814,000 A94,000

-1005-
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15,280 7,000 8.280

202 0iH| 8.280 0 8.280

01 =LHOIHI 8,280 0 8,280
OKlER NHER 8,280

307 Q1240 & 7,000 7,000 0

04 DIFHALR T 7,000 7,000 0
oszeMs oM 29 7.000

QA AP R )| BE = (G B OH ) (SR O Qe /Bl 24 278,000 76,000 202,000

&0 E)

OIECI2 SHior FREA 278,000 76,000 202,000

or BIXl UK =3HAY 104,000 76,000 28,000

202 0i | 4,000 4,000 0

01 2LHoIHI 4,000 4,000 0
OMOHIX - LIX SHAIY =X 4,000

403 XHXISHHI S KH=2 0| & 100,000 72,000 28,000

01 IS K= X 100,000 72,000 28,000
OMOHEIX - LK =3HAIY X 100,000

OlAE & Mo 54,000 0 54,000

202 04 Hl 4,000 0 4,000

01 2U0fHl 4,000 0 4,000
OSHHOH SHOHLY QAR Y MY 4,000

403 Xt XIEHH S XHO0| & 50,000 0 50,000

01 IIXISHHK=EE X 50,000 0 50,000
OSHHO OIAE & A 50,000

OLFIBH Bl 2K 120,000 0 120,000

403 MHXISHSXH=0IH 120,000 0 120,000

01 RXISHRIAt= 2 X 120,000 0 120,000
o2y L MUK 120,000

X 22| (S OHD) (D1EH/IIE) 28,586 24,079 4,507

Jl=2 28,586 24,079 4,507

S22 J1=22| 28,586 24,079 4,507

201 YEr2 | 14,000 13,549 451

01 At 2l 14,000 13,549 451
OBRA2Y ARzl 14,000

202 01| 14,586 10,530 4,056

01 24018l 14,586 10,530 4,056
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14,586
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